EaLAE HAS T8, ME| MASEE LT}

= AEl =SS
s == =T

AE|olZA olcilA —E'|I'| Ao|= o:|7:|

ESHY/NE OIUIII

T
il

for electrics

7,

© HEINRICH KIPP WERK GmbH & Co. KG

=9

HE &E: )

ey EMXE 5H o2 Qo &3 fIXI7H Hate Ae Yx|sHot
ste Roil ASELICH HA EEE 522 Zofofgt 2 &3
9|2 OIS 4 YLt

YAIZol dA &3 Ele Eo{ok 5t 3 Elo| gESE YX|sHok ot
Beols Bt C =& Bt DE Ar8aiof EfLct

AE] M7} QlE QlH Al Z-X{0|M ZS MEHE TAIXoZ Q4
H& MElg £ 9

THE:
AR T

LA €2I2 & &= E, A Y.

AHQIE|A AR H{H:
LIA} &£2]E 1.4305.
= El 43t 1.4034.
= El, Fstlx| o2 1.4305.
HA™E a8, QAN XK.

EM OpR2]:
AEI YA
LIA 212, A 48t ﬂEI
2 E, Fst M2, Aok Y A™ A5 %2
AERIZ|A AE]
LIA &21E, FEE M2
lK:II':I. x| 74

Zl, A3t
2z E 2As o

X
SEf MAME S-1mm AEZ 9 HEE|H MEFEFLICH

N

_wmﬂmm
+o|

GIO|Ef:

% A

1 3|2: PNP H4{7|(NO)
19t 6-30 V DC

M <100 mA

> [> 221 221 iy 40
>I r>|

5855 IP67
A . 2mPVC #Holg
25 #Hel:-10° C ~ +70°C
4&9l: CE, c-UL-u, EAC

www.kipp.com - info@kipp.com

1/3



© HEINRICH KIPP WERK GmbH & Co. KG

=ZalAEI] A3 A X (o] L ElSS
ZolAE HAES JE, AFER MIAM QI EIZ2 LHEJ = AE =2
AN AN ClIA = = 74
AE|QIE|A OIHIA ZRX], A0S A&
=S MdYH/XIE olo]x|
HEf MM UeE QEIA E S0 e 3HE Mo{g =
olguich. =3t &2 Eo| £ MElol che W 2aE 4
A& LCt.
AL
S5 A7 A,
o 23 B
AE) M7 Qe oIEA £ QI ot™ 7|s0f MEStK|
ei&Lct.
=0 M.
El A &2 &R 813, FJIREH HE §4
EI B: &2 €% I8, 7I2E HE QU
Bl C: B2 &R 8,7 2
Et D: &2 £XUZ, 7t AUAZH
P = 70| Z0|
BN = ZHA4
BK = A&
BU = M
=
© D2
|
A | ! 1
SW1
“ |
- )
. D3
ml |
~J 1
| B ;
=
D-0,02 W
-0,04
D1
EZ=S 29
FEHS Ef = E D1 D2 D3 L L1L2L3 AEE3 SW1 Fx30° P PAES] EtN
EFN =
F12 N F22.N
K1744.31051 ¢ AEl Zst 5 M10x1 25245117 7 15 5 13 1,3 2000 5 12
K1744.32061 c AE Z#Ast 6 M12x1,5 25 2,45620 8 17 6 14 1,8 2000 6 14
K1744.33081 C AEl Zs 8 M16x1,5 33 2,4 74 26 10 23 8 19 2,3 2000 15 35
K1744.34101 c AE Z3 10 M20x1,5 33 2,4 80 28 12 25 10 22 2,8 2000 15 34

www.kipp.com - info@kipp.com 2/3



°
Sa|AE HAIS B, AE| MAMQ A LETI U= AH SR
ﬂ
AE|olg|A OIHIA ZRix, Hlo|2 A
ZS 29
FEHS 2 xHE A= E D D1 D2D3 L L1L2L3 AEE3 SW1 Fx30° P INES EbA
S ErN E
F12E. N F22. N
K1744.34121 c AE FZ M20x1,5 33 2,4 84 28 14 25 12 22 2,8 2000 15 39
K1744.031051 C  AE|Q@A AE a3t M10x1 25245117 7 15 5 13 1,3 2000 5 12
K1744.032061 C  AHIQIBA AR PEE M12x1,5 25 2,4 56 20 8 17 6 14 1,8 2000 6 14
K1744.033081 C AHIQIHA AEl PEE M16x1,5 33 2,4 74 26 10 23 8 19 2,3 2000 15 35
K1744.034101 C  2E|QIHA AE P M20x1,5 33 2,4 80 28 12 25 10 22 2,8 2000 15 34
K1744.034121 C  AHIQIHA AE FEE M20x1,5 33 2,4 84 28 14 25 12 22 2,8 2000 15 39
K1744.132061 C  AHIQIHA AE  H|IZE M12x1,5 25 2,4 56 20 8 17 6 14 1,8 2000 6 14
K1744.131051 C  AHQIEA AR H|ZS M10x1 25 2,4 5117 7 15 5 13 1,3 2000 5 12
K1744.133081 C  AH|QIHA AEl  H|IZS M16x1,5 33 2,4 74 26 10 23 8 19 2,3 2000 15 35
K1744.134101 C  AHIQIHA AE  H|IZS M20x1,5 33 2,4 80 28 12 25 10 22 2,8 2000 15 34
K1744.134121 C  AHIQIHA AR H|ZS M20x1,5 33 2,4 84 28 14 25 12 22 2,8 2000 15 39

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com  3/3



